Level 19 Test answers Year 6

. . . Term 1
1. Write in words: 121,911 Level 19 Test

one hundred and twenty-one thousand nine
hundred and eleven

2. Write in figures: forty-two thousand, three hundred
and nine 42,309

3.In the number 627,943, the 6 is worth 600, 000.
What is the 2 worth? 20,000

4. Write this equation another way so that you still get
the same answer:
(5x2)x10=0 and ox(oxO)=0O
(5x2)x10=100and 10x (5x2)=100

5.231x3=(200x3)+(30x3)+(3x3)=693

6.3+6=9 30+60=90 300 + 600 =900

7.Which of these are prime numbers:
aj9 b)l2 «¢)15 d)11

11



8. Arrange these from smallest to largest:
765 1.6 .02 3.02
.02 .765 1.6 3.02

9. Addition: set out before working it out. (use the back of this

sheets for working.)

1.75 +192.2 + 3000.65 =3194.6

10. Subtraction: set out before working it out.
1.1 - 0.5=0.6

11. a) 654.3 x 10 = 65.43
b)72.08 x 100 = 7208

12. There were 100 people in a long-distance race. 12
people finished in 15 minutes. What percentage is
this? 12%

13. Change %to a mixed number. 3 %

14. Change 1% to an improper fraction. %

Score /14= %




